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(if else elseif endif) ( )

{ dim i as integer

Agt_Step{
dim a as double

a=rnd()

if a <0.25 then
forward(1)

elseif a < 0.5 then
forward(-1)

elseif a < 0.75 then

turn(90)
else

turn(-90)
end if
}

) Agt( ) Agtset(

Agt_Step{

ifrnd() <0.25 then
forward(1)

elseif rnd() < 0.5 then
forward(-1)

elseif rnd() < 0.75 then

turn(90)
else
turn(-90)
end if
}
integer( ) double(



dim syuugou as agtset

MakeOneAgtsetAroundOwn( ) ,
)

MakeOneAgtsetAroundOwn(syuugou, 1, universe.oozora.tori, false)

1 tori syuugou



MakeAgtset( , )

—

MakeAgtsetSpace( , )
MakeAllAgtsetAroundOwn( : , )

- ( )
MakeOneAgtsetAroundPosition( , , X, Y, Layer, ,

)

( )
? artisoc
« )
CountAgtset(
) tori

dim kazu as integer

dim syuugou as agtset

MakeOneAgtsetAroundOwn(syuugou, 1, universe.oozora.tori, false)
kazu = CountAgtset(syuugou)

syuugou 1 tori kazu
if kazu >= 3 then if
50>=<50
(eastward westward) 100
eastward O westward 180 1
1 20

eastward

Agt_Init{

my.X = rnd()*50



my.Y = rnd()*50
my.Direction =0

}

Agt_Step{

dim syuui as agtset

dim a as integer

MakeOneAgtsetAroundOwn(syuui, 1, universe.concourse.westward, false)

a = countagtset(syuui)

if a> 0 then
turn(-20)

end if

forward(1)

my.Direction =0

}
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